h7TBF

A | 1 4 = | Iet
<[1|E & |/ E(RF10X) 3 1
2lIEB FEE(7eELE)O 3 3
3/ M E FR(ABWoSI)| 0 3 2
41PT 8 BT K ER ( AL#R/-2Jr.)| O 4
51= £ E(awmsi-xoe)| 0 1 5
B | 1 4 %= | IEk
1|B K 8 BB(A&x11LX) 3 1
2/ B F W AR/-RIr) | O 3 2
3|F B BB A smsrw/a)| 0 2 4 Iy
4|4 B OR(AWYS5T)| 0 3 2@53@41@52@31@4
5|F g MAzx41X)[ 0] 0 0 ° 3@51@321@245
X2023F LB EEFENT OIS X T TU—V—
NG 2 3R 7€ Bk
[ 1~2f1 IREEK
A—1L [B & | EB( RFALX) ]_ B R E 2R
B—1fi B A & ER( RFAALX) o B R B BR( RxAAX)
0
[ 3~4fi REE 0
A2z |IN #k £ R( MWLs57) :l_ sf /N B OF W AR/-An)
B—2fi /N B F MW ( Az apg M HOE FRC AWY3T)
[ 5~64L IREE 0
A-3f [EB F EX(7erLEB) :l_ 54 Ak FOR(AWYII)
B—3fi |4 B T( AWYSY) ous B B E(TELE)
[ 7~8fI LIREEK 0
A—af [ BLAER ( AL#/-AJr) :l_ 75 5 BB A smys)
B—afi ¥ @ B A ( ssrw/y) gi Tri|d BLKER ( AL#R/-2dr.)
[ 9~10fL JIREHK
A—5f |= £ B ( A®/-adn) ]_ ot = £ E( M@z
B—5fz |F £ B x%x1LRX) 1oz F £ B xxq141LX)
2




